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∥∥∥
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dV ⊗N
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dVKE C∗n Rn

: C∗n → Rn, z 0→ x := (log |z1|2, ..., log |zn|2),

dVKE = e−ψ(z)
dz

z
= e−φ(x)dx ∧ dy,
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ψ(z) ←→ φ(x)
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Rd :
∑

m∈P
cmzm ! φ(x) := max

m∈P
x ·m

Cd

Ψ(z) := log |P (z)|

Rd :

φ(x) := lim
λ→∞

λ−1Ψ(eλx, eiy)



Rn (Rn)N :
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x1 ·mσ(1) + ...+ xN ·mσ(N)
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